3.1.5
Bidding the other major

As we have mentioned before, modern practice by many players is: -

1NT  -  2(  -  2(  -  2(
shows 5-5 in the majors and is invitational

1NT  -  2(  -  2(  -  3(
shows 5-5 in the majors and is game forcing

This was fully covered in the previous section. The major drawback with using the second sequence is that there is little room for manoeuvring, especially when looking for slam. Thus we use the first sequence to show both the invitational and game forcing 5-5’s.

So that leaves the sequence 
(a)
1NT  -  2(  -  2(  -  3(      undefined,
as is the similar sequence
(b)
1NT  -  2(  -  2(  -  3(.

Also, what is



(c)
1NT  -  2(  -  2(  -  4(
and



(d)
1NT  -  2(  -  2(  -  4(.

Splinters?

Let’s start with   1NT  -  2(  -  2(  -  3(      and    1NT  -  2(  -  2(  -  3(.
Hand A
Hand B
Hand C

We start with looking at these 3 hands, partner  




has opened 1NT. Hand A
is mildly interested

( Q3
( 3
( 3


in slam and so a Jacoby transfer followed by

( KQ9642
( KQ9642
( KQ9642

4( is best. Hand B has good shape and a 

( A4
( AJ4
( AJ4

singleton, but not really slam values, so a 

( K98
( J98
( K98
Texas 4( is best. Hand C is different; it 





definitely wants to investigate slam, especially if partner has few wasted values in (’s. With no other 4+ card suit to mention, we clearly want to splinter with Hand C. 


Now   1NT - 2( - 2( - 3(/4(/4(   and 
 1NT - 2( - 2( - 4(/4(/4(    are all played as splinters by some players. But this is a bit wasteful (using three bids) and, as we will see shortly, we need the 4( bid as ace/key card ask and we use the 4( bid as a general slam try. But there is absolutely no reason why we cannot use 3( and 3( here as ambiguous splinters, exactly the same as they were with Stayman.
3.1.5.1
Bidding 3 of the other major – ambiguous splinters 

So we simply adopt the same philosophy as we did after Stayman – ambiguous splinters. After a simple completion of the transfer, 3 of the other major is an ambiguous splinter. It’s just the same as the Stayman sequences: -

So, after   1NT - 2( - 2( - 3(,


and after   1NT - 2( - 2( - 3(, 

3NT asks
4(
=  ( singleton/void

3( asks
3NT
=  
ambiguous void 


4(
=  ( singleton/void

4(  
=  
( singleton


4(
=  ( singleton/void

4(
=  
( singleton





4(
=  
( singleton




After 1NT - 2( - 2( - 3( - 3( - 3NT,      



4( asks
4(
=
( void





4(
=
( void










4(
=
( void


Example 1


West
East
West

East

(1)
transfer








(2)
normal accept

( KJ4
( 3
1NT

2(
(1)
(3)
ambiguous splinter

( J8
( KQ9642
2(
(2)
3(
(3)
(4)
where?

( KQ87
( AJ4
3NT
(4)
4(
(5)
(5) ( singleton/void

( AQ76

( K98
pass

With wasted values in (’s, West settles for 4(.







_____________________

Example 2


West
East
West

East

(1)
transfer








(2)
normal accept

( Q42
( 3
1NT

2(
(1)
(3)
ambiguous splinter

( A108
( KQ9642
2(
(2)
3(
(3)
(4)
where?

( KQ7
( AJ4
3NT
(4)
4(
(5)
(5) ( singleton/void

( AQ76
( K98
4(
(6)
etc to 6(
(6)
RKCB


This time there’s little wastage in (’s.





_____________________

Hand D
This hand is very powerful and wants to investigate slam even if partner signs 


off. However, there is a slight problem with this particular holding (( shortage)

( 3
when playing ambiguous splinters in that it goes 1NT - 2( - 2( - 3( - 3NT - 4(
( KQJ642
and partner may pass! So with this hand type with definite slam interest you 

( AJ4
cannot splinter and have to simply ask for keycards (with 4( after transferring – 

( AQ8

as we shall see shortly).

3.1.5.2

Bidding 4 of the other major 

Here we consider the two remaining, perhaps strange, sequences (c) and (d): -

(c)
1NT  -  2(  -  2(  -  4(

(see note at the bottom of the next page)

(d)
1NT  -  2(  -  2(  -  4(
On the surface, pretty silly. You have transferred but then leapt to 4 of the other major. Before we write off these sequences as meaningless, consider the sequences: -

1NT  -  2(  -  2(  -  4NT
and

1NT  -  2(  -  2(  -  4NT.

These are fully covered later. They are quantitative, showing 5 of the major and suggesting a slam either in the major or in NT. Also possibly in a minor.

But what if responder has a similar slam invitational hand but with 3 cards in the other major? A quantitative 4NT would make a 5-3 slam in the other major very difficult to find. So why not use these otherwise redundant bids of 4 of the other major to show a similar hand to 4NT quantitative but showing 3 (decent) cards in the unbid major? Of course, this also helps to clarify our 4NT quantitative bid (it usually denies 3 cards in the other major). So, we have: -

1NT  -  2(  -  2(  -  4(
quantitative, 3532 or 3523 shape

1NT  -  2(  -  2(  -  4(
quantitative, 5332 or 5323 shape

Opener should then be in a position to have a good shot at the best contract, game or slam.

Example 3

West
East
West
East

( A5
( KQ976
1NT
2(


(1)
quantitative, 3 (’s

( KJ932
( AQ5
2(

4(
(1)
(2) with good (’s but a minimum, 

( Q64
( 82
pass
(2)



West settles for the 5-3 fit at the 

( KQ8

( A106 





game level.





_____________________

Example 4

West
East
West
East

( 85
( KQ976
1NT
2(


(1)
quantitative, 3 (’s

( KJ932
( AQ5
2(

4(
(1)


( AK6
( 82
6( 
(2)
pass

( KQ8

( A106 


(2)
4NT is not available as Blackwood here (it is a sign off). 4( is also to play of course. So with excellent (’s West simply accepts the slam invitation. You could play 5( as a cue bid here but it’s best played as looking for a ( slam (see example 5).

It looks like 11 tricks in NT if the (A is offside, but West knows of the 5-3 ( fit and also that East has a doubleton minor. The 12th trick should come from a minor suit ruff.

After responder’s 4-of-a-major bid it is still best to reserve bids of 5(/( and 6(/( as looking for a minor suit slam as in the traditional case where responder bids 4NT; responder is known to have a 3 card minor: -

Example 5

West
East
West
East

( 85
( KQ976
1NT
2(


(1)
quantitative, 3 (’s

( K92
( AQ5
2(

4(
(1)
(2)
suggesting a ( slam.

( AK6
( 82
5( 
(2)
6(
( KQJ83
( A106 
pass





_____________________

Recap
Just check on these two hands and compare our bidding to ‘standard’. Partner 
(West) has opened a strong NT.

East A

‘Standard’
   ‘Our system’

( K10843

West
East
West
East


( AJ9

 

( 52
1NT
2(
1NT
2(
( Q102
2(
3NT


2(

3(..   etc.

East B

‘Standard’
   ‘Our system’




( KQJ83

West
East
West
East


( AJ9

 

( Q2
1NT
2(
1NT
2(
( K108
2(
4NT


2(

4(..   etc.

Clearly our system is superior as it allows a possible 5-3 ( fit to be located at or below game. And, as previously stated, it clarifies the situation when we do rebid 3/4NT (no decent 3 card major).



______________________

Note

Some players use sequence (c)  1NT  -  2(  -  2(  -  4( to show a 5-5 hand with slam interest. Clearly quite reasonable, but we use our sequence   1NT - 2( - 2( - 2( - 2NT - ?           to define 5-5’s with slam interest. Obviously far better as the level is lower and the ? bid informs opener of shortage etc.
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